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General Instructions:

. All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D. Section A
comprises of 8 questions of 1 mark each, Section B comprises of 6 questions of 2 marks each. Section
C comprises of 10 questions of 3 marks each and Section D comprises of 10 questions of 4 marks
each.

Question numbers 1 to 8 in Section A are multiple choice questions where you are to select on
correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two marks, 3
questions of three marks each and 2 questions of four marks each. You have to attempt only one of
the alternatives in all such questions.

Use of calculator is not permitted.

. An additional 15 minutes time has been allotted to read this question paper only.
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Section-A

Question numbers 1 to g carry one mark each. For each questions, four alternative
choices have been provided of which only one is correct. You have to select the
correct choice.
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A pair of irrational numbers whose product is a rational number is : VI WS apegn.a

(a) 16, V& B) V5 2 © 3,V (D) 36, V2
i Tt 1 e g e o Tk uiE e g, €
(&) 16, V& B 5 2 © BT (D) 36, V2

If a, B are zeroes of polynomial f(x) = x> + px + q then polynomial having 1 and L

2%

as its zeroes is :

(A) x*+qrx+p (B) x2—px+q (C) g2+ px+1 (D) px?+qx +1

M o, B IR f(x) =12+ px +q % LAH Bl dl 1 aon %W%WW@"W
@
(A) x>+ qgx+p B) ¥*—-px+q (O g2+prx+1 (D) px*+qgx+1

If the diagonals AC and BD of a quadrilateral ABCD intersect at O such that AO.
OD=0B.OC, then the quadrilateral is a :

(A) parallelogram (B) trapezium (C)  rectangle (D)  square
Ifg ws =qYs ABCD & fashuf AC 92 BD fig O W #1ed € 991 AO. OD=0B.OC &, a1 =g+

(A) WHIR =Y  (B) GHdd (C)  3md (D) =i

Which of the following is not defined ?

(A) cos0° (B) tan45° (C) sec90° (D) sin 90°
71 & & 9 = aRenfia & 272
(A) cos0° (B) tan45° (C) sec90° (D) sin 90°

(4 tan? A —4 sec? A) is equal to :
A) -1 (B) -4 <G o (D) 4

(4 tan? A —4 sec? A) SRR & :
A -1 (B) 4 © 0 (D) 4

If sin 8 = cos 0, then the value of cosec 0 is :
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2
3

Rational number 2, g#0 will be terminating decimal if the prime factorisation of q is of
the form (m and n are non negative integers) :

(A) 2mx3n (B)  2mx5n (C)  3mx5n (D) 3mx7n

i He k| g0 F1 WHed YER Tid B ARG q % STHRT [UHEUE H FF SR (m T4 n
q
FOR YUTR B :

(A) 2mx3n (B)  2mx5n (C)  3mx5n (D) 3mx7n

The graphical representation of the pair of equations x +2y—4=0and 2x+4y—12=01s:
(A) Intersecting lines (B) Parallel lines
(C) Coincident lines (D)  All the above
IRaeh FHIHTOT I x + 2y — 4 = 0 T 2 + 4y — 12 = 0 T AR SRR AT :
(A) il @ (B)  HHFIR @i
Q) HHt W (D) 9t A, B,C
Section-B

Question numbers 9 to 14 carry two marks each.
The value of tan1°.tan2°.tan3°.......... tan89° is :

tanl®.tan2°.tan3°.......... tan89° b1 HIH % |

Which measure of central tendency is given by the x co-ordinate of the point of intersection of the
more than Ogive and less than Ogive.

Page 3 of 12



11.

12.

13.

14.

15.

ﬁ UEC ( NewDelhi ) Classes Online
T

Emp,

Visit: www.uecjdu.hpage.co.in

ing Parents

11 = wgfd < A9k § ‘W 1R YR AROT AT '/ RH YRR ORI W x 3181 o ideded gRI

@ﬁﬁ%:

Find the LCM of 336 and 54 by prime factorisation method.

ST UHEE G 336 G154 1 LCM (F.9.9.) F1d R |

Find the zeroes of the quadratic polynomial 4x2—7.

4x2 — 7 f5oTd IZUR o Y G R |

For what value of k, the pair of equations kx + 3y =k —3, 12x + ky = k has unique solution.

k % fore AW & forw aeffeRtor 0 ka + 3y =k — 3, 12x + ky = k 1 A5t gt 2rm 2

ﬂ =secA +tanA

— S1

Prove that

fag = M =secA + tanA
1 — sinA

OR/ 3TraT

If sin (A + B) = cos (A — B) = and A, B (A > B) are acute angles, find the values of

J3
2

AandB.

IS sin (A+B)=cos (A—B)= ? T, SR A, B (A > B) = IV ¥ 1 A 3R B % HH T HifS |

Section-C ( I™™I@o= — T )

Questions numbers 15 to 24 carry three marks each.

In the figure given below, ABC and DBC are two triangles on the same base BC. If AD
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intersect BC at O then show that : —
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ar (ABC) _ AO Visit us at: http://www.uecjdu.hpage.co.in © 2014

ar (DBC) DO’

5

11 sTpfa ) ww & 3MUR QR W & 1S ABC @R DBC o1 §U & | afg AD, BC ®1 0O fag |
wfesg &Y, 1 gz

ar (ABC) _ AO
ar (DBC) DO’

5

In a trapezium ABCD, AB is parallel to CD and AB=2CD. If area of AAOB =84 cm?, find the
area of ACOD.

D c
( EOE ?
A B

T=gydst ABCD ¥ AB 3R CD 99=R & @1 AB=2CD &I 3afg &. AAOB=84 T.H.2 &, o
&. ACOD 1 hifSu |

D C
{ EOE ?
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17. Construct the frequency distribution table for the given data:  yjgit: www.uecjdu.hpage.co.in

Marks Lessthan | Lessthan | Lessthan | Lessthan | Lessthan | Less than
Obtained 10 20 30 40 50 60

No. of 14 22 37 58 67 75
Students

frefafad stiwel s IRaRdl ded GRul sFET ;

qTdich 109 9 209 &Y 309 %9 409 Y 50 9 %" 60 9 %A

forenfef=t =t
&

14 22 37 58 67 75

18.  Find the mode of the given data:

Class | 0-20 | 20-40 | 40-60 | 60- 50
Frequency 15 ) 15 10
11 stihel 1 sigetsh A e |

ERl N 0-20 20-40 [ 40-60 [ 60- 80
ARARA] 15 6 18 10

19. There are 156, 208 and 260 students in Groups A, B, C respectively. Buses are to be
hired to take them for a field trip. Find the minimum number of buses to be hired if the
same number of students should be accommodated in each bus.

T WEEI A, B T C § A 156, 208 T 260 faeneff T1 3% sk & 9 o fau o« =61
A W AT €1 Ifc T8 99 § Toh G fanel o S SM €, O 991 &1 %A 9 w8 9 T
A IS |

20. Prove that 2\/5 — 7 is an irrational.

fag ST fw 243 — 7 U oy gem 2
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22,

23.

24.

25.
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Prove that «/§+\/§ is an irrational number.

fag SN fw 3+/5 T iy ge v

Solve for x and y : mx—ny=m2+n?; x—y=2n

x Ay % Terd g SIS : mx —ny=m2+n?; x—y=2n

OR / 3eran
Seven times a two digit number is equal to four times the number obtained by reversing the
order of digits. If the sum of both the digits is 9, find the number.

Teh <1 3feh] i GCAT 1 AT T, ST TEAT & Fehi I Teled T W H&AT & IR T & SR |
Ffc ST 3R] 1 ART 9 8, A H&A I DI |

Obtain all other zeroes of x4 + 5x3 — 2x2 — 40x — 48, if two of its zeroes are 2+/2 and —2+/2 .

TGIE x4 + 523 — 2x2 — 40x — 48 T T YFF HHI: 242 AT —24/2 T | FgUS & 3T Weft IR
1A hITIT |

Prove that :sec20 + cot? (90 — 0) =2 cosec? (90 — ) —1.
g FIIT : sec20 + cot? (90 — 0) =2 cosec? (90 — 6) — 1.

If cos® —sind = /2 sind, prove that cos6 +sinf = J2 cosé.

IS cosh —sinf = «/E sin® %, 1 fag wifST fF cos +sind= «/Ecosﬂ.
Section-D

Questions numbers 25to 34 carry four marks each.

A
C
% P
y
Z
B D
Q

In figure above, AB||PQ||CD, AB =x units, CD = y units and PQ =z units, prove that,
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A
C
x P
y
z
B D

Q
3T H AB||PQ||CD, AB =x 3%, CD =1 3% a2 PQ =z T &, 1l 95 HifsT fh

x oy

NI

In the given figure PS, SQ, PT and TR are 4 cm, 1 cm, 6 cm and 1.5 cm respectively,

. , ar(APST)
prove that ST||QR. Also, find the ratio of
ar(trap QRTS)
P

4 cm 6 cm

S T
lcm 1.5cm

- / \R

& TE empfa H PS, SQ, PT T TR i <iagdl shAS: 4 cm, 1 cm, 6 cm AT 1.5cm & 1 g

&% (APST)
HIfSTT fF ST|QR T e QRTS)%ﬂmﬁﬁﬁm

P
4 cm 6 cm
S T
1cm 1.5 cm

Find the mode of the following data :
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Less than 10 3
Less than 20 ]
Less than 30 24
Less than 40 36
Less than 50 49
Less than 60 &g
Less than 70 7B
Less than 80 B0

frefafiaa sifhel = Sges A HIT :

A faenfirat =t dren
109 FH 3
20 7 FH 5
30 H FH 24
40 9 FH 36
50 H FH 49
60 T FH 69
70 FH 75
50 9 FH 80

OR/ 3TraT
The mean of the following frequency distribution is 52. Find the missing frequency.
oL 10-20 | 20-30 [ 30-40 | 40-50 | BO-60 | &0-70 | 70- 80
Frequency 5 3 4 F 2 6 13

=T IRERaT S 1 AT 52 €, Al ST SRRl [ Shifed |

o A | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60- 70 | 70- B0
ARARAT 5 3 4 f 2 6 13

200 surnames were randomly picked up from a local telephone directory and the frequency
distribution of the number of letters in English alphabets in the surnames was obtained as

follows.
No. of letters 1-5 | 5—-10 | 10—15 | 15-20 | 20—25
No. of surnames 20 60 80 32 8

Find the median.

T T T SRl § § Argssd 200 e fore 7T qen 39 T § SRSt % AaRi @@
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AW ol & ¢ 1-5 | 5-10 | 10—-15 | 15-20 | 20—25
FaamEi hi @A : | 20 60 80 32 8
ek 1 hiteld |

If two of the zeroes of the polynomial f(x)=>5x*—5x3—33x2+3x +18 are + \/g and — \/g

find the other two zeroes.

Wi:c{agq?(f(x)=5x4—5x3—33x2+3x+18a??ﬁw \/g qar — \/g %aﬁsﬂ%mﬁrwm

FifT |

In the given figure, AABC is right angled at C and DELAB. Prove that AABC ~ AADE and
find the lengths of AE and DE.

A

A

COv

B 12 cm

& ¢ 3Tpfa W, ABC Ueh THahIv 31T B, fST&eht hio1 C THehIvl @ 991 DELAB ® 1 g ifsre f
AABC ~ AADE ® @9 AE 3R DE %1 Siaeal I S |
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3 cm
1D
2cm
COv
B 12 em C
OR / 3gar

Prove that the ratio of the areas of two similar triangles is equal to the square of the ratio of

their corresponding sides.

g FiferT foF <1 Toey s & SFhal i STIU Sl TG esil o S o ST & SRR

AT

31. Prove that

tan 0 4 cot 0
1 — cot6 1—tan6

g whifery fo

=secB cosecO + 1

tan 0 n cot 6
1 — cotO 1 — tan 0

=secO cosecO + 1

OR / A&
!
If p= cosecB + cotd then show that P = cosb .
p2 +1

2 _
IS p= cosec +cotd 8, T fag FIfT fw p2 1 = cosb
P+

32.

sec?(90° — ) — cot?0 N 2sin?30°tan?32° - tan?58°

Evaluate : > > > >
2(sin“25° + sin“65°) 3(sec”33 — cot”57)

2000 — A\ _ et . 2nn0ran2290 . pa2 EQo
WM T i . 56C (90° — 8) — cot“0 + 2sin“30°tan”32° - tan~58

2(sin?25° + sin65°) 3(sec?33 — cot?57)

33.  Find graphically the solution of the equations :
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Find the co-ordinates of the points where the two lines meet the y-axis.

T gRT f7 THtehol o1 B [ hifsi |

x+2y=8 ; y—x=1

x+2y=8,; y—x=1
3 fargatl & faderer 91 ifSTe SRl R 98 Y@ 3187 1 fierd §)

The following table gives the height of 40 trees in meters :

Height in 0-8 8—16 16 —24 24 —32 32—-40 40—48
meters :

No. of 3 7 13 9 8 2
trees :

Change the above distribution to less than type distribution and draw its ogive. Hence
obtain the median value.

foreferfiaa # 40 gafi o6t = (A H) AT R :

qaxaﬁa 0-8 8—-16 16 —24 24 —-32 32—-40 40—48
(W) :

a0t i 3 7 13 9 8 2
& :

SYH TRERAT Sie bl ' H ' YRR o s H sSgciehd TR0 SiraT q9T S9eht Feradl o A1egeh of
T HifSTT |
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